



StudentName: \_\_\_\_\_

ExamDate: \_\_\_\_\_ ExamScore: \_\_\_\_\_

$$(-10)^0 - (-2) =$$

$$(-7)^3 - 1 =$$

$$7^3 - (-6) =$$

$$4^2 + (-9) =$$

$$(-7)^3 + (-4) =$$

$$3^3 - (-1) =$$

$$5 - (-9) =$$

$$(-3)^2 + 4 =$$

$$1^3 + (-5) =$$

$$6 + 6 =$$

$$4^3 - (-9) =$$

$$(-5)^3 + 7 =$$

$$9^3 - (-5) =$$

$$(-9)^3 + 10 =$$

$$3^2 + 2 =$$

$$(-6)^2 + (-1) =$$

$$5 - (-6) =$$

$$(-1)^2 - (-8) =$$

$$10^3 + (-7) =$$

$$1^3 - (-4) =$$



StudentName: \_\_\_\_\_

ExamDate: \_\_\_\_\_ ExamScore: \_\_\_\_\_

$$(-10)^0 - (-2) = 3$$

$$(-7)^3 - 1 = (-344)$$

$$7^3 - (-6) = 349$$

$$4^2 + (-9) = 7$$

$$(-7)^3 + (-4) = (-347)$$

$$3^3 - (-1) = 28$$

$$5 - (-9) = 14$$

$$(-3)^2 + 4 = 13$$

$$1^3 + (-5) = (-4)$$

$$6 + 6 = 12$$

$$4^3 - (-9) = 73$$

$$(-5)^3 + 7 = (-118)$$

$$9^3 - (-5) = 734$$

$$(-9)^3 + 10 = (-719)$$

$$3^2 + 2 = 11$$

$$(-6)^2 + (-1) = 35$$

$$5 - (-6) = 11$$

$$(-1)^2 - (-8) = 9$$

$$10^3 + (-7) = 993$$

$$1^3 - (-4) = 5$$